Challenge_2 practice 3

Find the sum.

H 36 2 23 3 44 947
+ 2 + 1 + 3 + 3
38 24 47 50
5 32 6 15 N 16 8 21
+ 2 + 6 + 2 + 8
34 21 18 29
9 36 10 19 1 12 12 25
+ 9 + 8 + 8 + 7
45 27 20 32
13) 15 14) 34 15) 35 16) 41
+ 7 + 2 + 5 + 7
22 36 40 48
17) 25 18) 12 19) 41 20) 11
+ 8 + 6 + 5 + 3
33 18 46 14
21) 26 22) 42 23) 12 24) 16
+ 9 + 4 + 5 + 5
35 46 17 21
25) 38 26) 19 27) 38 28) 32
+ 2 + 2 + 4 + 6
40 21 42 38
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3 21

N 42

41) 16

_ 42

Find the difference.

51) 23
- 7

16

30)

38)

42)

31) 32
+ 8
_ 40

%) 26

29

53) 13 54)
2

) 17

40) 37
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56) 29
61) 16
66) 12

1
71) 22
76) 39
81) 49

8) 22

57)

62)

67)

72)

77)

82)

87)

58)

63)

68)

73)

78)

83)

47
- 7
_ 40

59)

64)

69)

74)

79)

84)

89)

65)

70)

75)

80)

85)

90)
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o 21 92) 17 %) 24 94) 12 95) 13

- 2 - 3 - 9 - 7 - 7

19 14 15 5 6

96) 31 97) 14 98) 11 99) 29 100) 29

- 7 - 3 - 4 - 5 - 2

24 11 7 24 27
Solve.

101)

102)

103)

104)

105)

106)

Five red plums and three green plums are in the basket. How
many plums are in the basket?

Brian has one peach and Amy has three peaches. How many
peaches do Brian and Amy have together?

Eight balls are in the basket. Four more balls are put in the
basket. How many balls are in the basket now?

Jake has five more balls than Allan. Allan has four balls. How
many balls does Jake have?

Audrey has five peaches and Michele has nine peaches. How
many peaches do Audrey and Michele have together?

Donald has five apples and Adam has one apple. How many
apples do Donald and Adam have together?
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107)

108)

109)

110)

Solve.
111)

112)

113)

114)

Seven red marbles and three green marbles are in the basket.
How many marbles are in the basket?

Jake has eight more oranges than Steven. Steven has seven
oranges. How many oranges does Jake have?

Five red peaches and four green peaches are in the basket. How
many peaches are in the basket?

One red peach and two green peaches are in the basket. How
many peaches are in the basket?

Eight plums are in the basket. Four plums are taken out of the
basket. How many plums are in the basket now?

Three plums were in the basket. Some of the plums were removed
from the basket. Now there are zero plums. How many plums
were removed from the basket?

Nine apples were in the basket. Some of the apples were removed
from the basket. Now there are seven apples. How many apples
were removed from the basket?

Nine balls are in the basket. Eight balls are taken out of the
basket. How many balls are in the basket now?
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115)

116)

117)

118)

119)

120)

Four plums are in the basket. Four are red and the rest are green.
How many plums are green?

Four apples were in the basket. Some of the apples were removed
from the basket. Now there are two apples. How many apples
were removed from the basket?

Nine balls are in the basket. Two balls are taken out of the basket.
How many balls are in the basket now?

Three plums are in the basket. Two plums are taken out of the
basket. How many plums are in the basket now?

Five oranges were in the basket. Some of the oranges were
removed from the basket. Now there are three oranges. How
many oranges were removed from the basket?

Billy has three marbles. Sharon has seven marbles. How many
more marbles does Sharon have than Billy?

(c) mathandcoding.com 6



